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Exercise 10 4

1. Find the equation of the line through the

intersection of 5r — 3y = land


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lDFa6HGiETOA

2z — 3y — 23 = Oand perpendicular to the

linebx — 3y —1=0.

° Watch Video Solution

2. Find the equation if the line through the
intersection of lines
x+2y—3=0and 4 —y+7=0 and

which is parallel to bz + 4y — 20 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_lDFa6HGiETOA
https://dl.doubtnut.com/l/_ZhYa4Mw5cJIV

3. Find the equation of the line through the
intersection of the lines 2x + 3y4 = 0 and

x — by = Tthat has its x-intercept equal to 4.

o Watch Video Solution

4. Find the equation of the line through the
intersection of lines 3x +4y=7 and

x — y + 2 = O0and whose slope is 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_AnUWRj0pQHZI
https://dl.doubtnut.com/l/_sNNTG8IkqFkv

Solved Examples

1. Find the distance between the parallel lines

3xdy + 7 = 0and3x4y + 5 = 0.

o Watch Video Solution

2.Find the distance of the point (3, — 5)from

the line 3z — 4y — 26 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_BPPFIKHoRwQo
https://dl.doubtnut.com/l/_N7m6jUkWLw9X
https://dl.doubtnut.com/l/_g8X4jKFP0hnT

3. Find the equation of the line whose
perpendicular distance from the origin is 4
units and the angle which the normal makes

with the positive direction of x-axis is 15°.

o Watch Video Solution

4. Find the equation of the line, which makes
intercepts 3 and 2 on the x and y axes

respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_g8X4jKFP0hnT
https://dl.doubtnut.com/l/_6otobPGwjpHE
https://dl.doubtnut.com/l/_PwpotIMOglU1

5. Equation of a line is 3z — 4y + 10 = 0. Find

its (i) slope, (ii) x and yintercepts.

o Watch Video Solution

6. The Fahrenheit temperature F and absolute
temperature K satisfy a linear equation. Given
that K = 273when F' = 32and that K = 373
whenF' = 212. Express K in terms of F and find

the value of F, when K = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_PwpotIMOglU1
https://dl.doubtnut.com/l/_nSeSQmx2AwXO

7. Find the angle between the Ilines

Yy —+/3x —5 = 0and /3y — z + 6 = 0.

o Watch Video Solution

8. Reduce the equation v/3z + y — 8 = 0 into

normal form. Find the values of p and w.

° Watch Video Solution



https://dl.doubtnut.com/l/_nSeSQmx2AwXO
https://dl.doubtnut.com/l/_qKNMz3LjqVp9
https://dl.doubtnut.com/l/_M3mwob7jlWmd

9.Find the equation of a line perpendicular to
the line £ — 2y 4+ 3 = Oand passing through

the point (1, 2).

o Watch Video Solution

10. Show that two lines a1z + bjy+¢; = 0

and asx + byy + co = 0, where by, by # Oare :

(i) Parallel if Zl = 22 , and (ii) perpendicular

1 2

if aias + blbg = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_P1QXii38Aw3I
https://dl.doubtnut.com/l/_QKl4HfYw17qN

1. If the lines 2a + y3 = 0, 5 + ky3 = Oand

3xy2 = Oare concurrent, find the value of k.

o Watch Video Solution

12. Find the distance of the line 4zy = 0 from
the point P(4,1) measured along the line
making an angle of 135°with the positive x-

axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_QKl4HfYw17qN
https://dl.doubtnut.com/l/_EnmKmoxRLjy1
https://dl.doubtnut.com/l/_tQQL8OqCJOWD

13. Assuming that straight lines work as the
plane mirror for a point, find the image of the

point (1,2) in thelinez — 3y + 4 = 0.

o Watch Video Solution

14. Show that the area of the triangle formed

by the lines y = miz 4 ¢;, y = myx + coand

(c2 — 1)

2\m1 — m2\

x = 0is

o Watch Video Solution



https://dl.doubtnut.com/l/_XrTzfPHFkzu1
https://dl.doubtnut.com/l/_N6iwRmCIckgx
https://dl.doubtnut.com/l/_5bJQTrpohEzZ

15. A line is such that its segment between the
lines 52 —y+4 =0and 3z +4y —4 =0 is
bisected at the point (1, 5). Obtain its

equation.

° Watch Video Solution

16. Show that the path of a moving point such
that its distances from two lines 3x — 2y = 5

and 3x + 2y = b5are equal is a straight line.

° Watch Video Solution



https://dl.doubtnut.com/l/_5bJQTrpohEzZ
https://dl.doubtnut.com/l/_G3WzUhtVB4fP

17. Write the equation of the line through the

points (1, 1)and (3, 5).

° Watch Video Solution

18. Write the equation of the line for which

tanf = E,Where fis the inclination of the

line and

3
(1) yintercept is — 3

(i) xintercept is 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_2vMDOahBwvwS
https://dl.doubtnut.com/l/_FTlBisCfRCcQ

19. Find the equations of the lines parallel to

axes and passing through( — 2, 3).

o Watch Video Solution

20. Find the equation of the line through

(2, 3)with slope 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_FTlBisCfRCcQ
https://dl.doubtnut.com/l/_2pFeedeKWFzC
https://dl.doubtnut.com/l/_ycAqUhrjhJl9

21. Three points P(h, k), Q(x1, y1)and

R(xy, yo)lie on a line. Show that

(h—z1)(y2 — 1) = (K — 1) (22 — z1).

o Watch Video Solution

22. In Figure, time and distance graph of a
linear motion is given. Two positions of time
and distance are recorded as, when T=0,D =2
and when T = 3, D = 8. Using die concept of

slope, find law of motion, i.e,, how distance


https://dl.doubtnut.com/l/_TkmMkSKdRXxh
https://dl.doubtnut.com/l/_86zMIBCG5ARu

depends upon time.

(T, D)

Distanee (D)

0 Time (T)

° Watch Video Solution

7r
23. If the angle between two lines is Zand

1
slope of one of the lines is 3 find the slope of

the other line.

| e


https://dl.doubtnut.com/l/_86zMIBCG5ARu
https://dl.doubtnut.com/l/_oMqW7WpjlcLY

& Wwatch Video Solution I

24. Line through the points ( — 2, 6)and (4, 8)
is perpendicular to the line through the points

(8,12)and (x, 24). Find the value of x.

° Watch Video Solution

25. Find the slope of the lines:
(a) Passing through the points (3, — 2)and
( -1, 4)’

(b) Passing through the points (3, — 2)and


https://dl.doubtnut.com/l/_oMqW7WpjlcLY
https://dl.doubtnut.com/l/_V06pVWZ4NsEH
https://dl.doubtnut.com/l/_lnFs2kq3pfnD

(7, —2),

(c) Passing through the points (3, — 2)and
(3,4),

(d) Making inclination of 60° with the positive

direction of x-axis.

° Watch Video Solution

26. Find the equation of line parallel to the y-
axis and drawn through the point of
intersection of x7y+ 5 = 0Oand

3z +y7 = 0.

| e |


https://dl.doubtnut.com/l/_lnFs2kq3pfnD
https://dl.doubtnut.com/l/_P82W8nble9pP

& Wwatch Video Solution I

27. Find the new coordinates of point (3, 4) if

the origin is shifted to (1, 2) by a translation.

o Watch Video Solution

28. Find the transformed equation of the
straight line 2z —3y+ 5 =0, when the
origin is shifted to the point (3, — 1) after

translation of axes.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_P82W8nble9pP
https://dl.doubtnut.com/l/_q7NqoYkyxDmf
https://dl.doubtnut.com/l/_IwOFvRXyMUWD

1. The line through the points (h, 3) and (4, 1)
intersects the line 7z — 9y — 19 = QOat right

angle. Find the value of h.

o Watch Video Solution

2. Prove that the line through the point

(z1,y;)and parallel to the line


https://dl.doubtnut.com/l/_IwOFvRXyMUWD
https://dl.doubtnut.com/l/_ACj8lzvdnOXn
https://dl.doubtnut.com/l/_GqWGYLxIa76D

Ax + By + C = Ois

A(z —z1) + By —y1) = 0.

° Watch Video Solution

3. Two lines passing through the point (2, 3)
intersects each other at an angle of 60o. If
slope of one line is 2, find equation of the

other line.

o Watch Video Solution



https://dl.doubtnut.com/l/_GqWGYLxIa76D
https://dl.doubtnut.com/l/_dhpeJwcchiNp

4. Find the equation of the right bisector of
the line segment joining the points (3, 4) and

(-1, 2).

o Watch Video Solution

5. Find the coordinates of the foot of

perpendicular from the point (1, 3)to the line

3z4y16 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_aHrwQz21U3CN
https://dl.doubtnut.com/l/_PbwXgjwMPxnh
https://dl.doubtnut.com/l/_gMaB264vJRDg

6. The perpendicular from the origin to the
line y=mx +c meets it at the point

( — 1, 2). Find the values of m and c.

o Watch Video Solution

7.1f p and q are the lengths of perpendiculars
from the origin to the lines
x cos @ — ysinf = k cos 26and

x sec + ycosech = k, respectively, prove that

P+ 4% = k2.

o Watch Video Solution



https://dl.doubtnut.com/l/_gMaB264vJRDg
https://dl.doubtnut.com/l/_hQJ1ZcDa2kKw

8.In the triangle ABC with vertices A (2, 3), B (4,
-1) and C (1, 2), find the equation and length of

altitude from the vertex A.

o Watch Video Solution

9.If p is the length of perpendicular from the

origin to the line whose intercepts on the axes

1 1
are a and b, then show that ? = E + ﬁ

o Watch Video Solution



https://dl.doubtnut.com/l/_hQJ1ZcDa2kKw
https://dl.doubtnut.com/l/_JyRIV6xvb0G5
https://dl.doubtnut.com/l/_QiEcOAwt8ZKD

10. Reduce the following equations into
normal form. Find their perpendicular
distances from the origin and angle between
perpendicular and the positive xaxis.(i)
z—3y+8=0 (i) y—2=0, /(i

x—y=4.

° Watch Video Solution

11. Reduce the following equations into

intercept form and find their intercepts on the


https://dl.doubtnut.com/l/_QiEcOAwt8ZKD
https://dl.doubtnut.com/l/_flhEYrdmd0Qf
https://dl.doubtnut.com/l/_7ZbPdiMbMDNM

axes.(i) 3x + 2y — 12 =0, (ii) 4o — 3y = 6,

(iii) 3y + 2 = 0.

° Watch Video Solution

12. Reduce the following equations into slope
intercept form and find their slopes and the y
intercepts.(i) = + 7y =0, (ii) 6z + 3yb = 0,

(jii) y = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_7ZbPdiMbMDNM
https://dl.doubtnut.com/l/_O0JkWq5QYOE3

13. Find equation of the line parallel to the line
3r — 4y + 2 = Oand passing through the

point (2, 3).

o Watch Video Solution

14. Find the distance between parallel lines
(i) 152 + 8y34 = Oand 15 + 8y + 31 =0

(il(z+y)+p=0and l(z+y) —r =0.

o Watch Video Solution



https://dl.doubtnut.com/l/_Kx5TnWtetrKR
https://dl.doubtnut.com/l/_1oWX7wDewa3M
https://dl.doubtnut.com/l/_rVQPwdX0W0FF

15. Find the points of the xaxis, whose

distances from the line % + % — lare 4 unit

is.

o Watch Video Solution

16. Find the distance of the point (1, 1)from

the line 12(x + 6) = 5(y2).

o Watch Video Solution



https://dl.doubtnut.com/l/_rVQPwdX0W0FF
https://dl.doubtnut.com/l/_Q9ZPG9Kdsjcn

17. Find angles between the Ilines

V3z +y=1landz + /3y = 1.

° Watch Video Solution

18. Find equation of the line perpendicular to
the linex — 7y + 5 = Oand having x intercept

3.

° Watch Video Solution

Miscellaneous Exercise


https://dl.doubtnut.com/l/_WntkVtDPgElp
https://dl.doubtnut.com/l/_ETCzQexwbqjv

1. A person standing at the junction (crossing)
of two straight paths represented by the
equations 2z + 3y + 4 = Oand 3x + 4y — 5=
O wants to reach the path whose equation is

6x — 7y + 8 = 0Oin the least time. Find

° Watch Video Solution

2. Find equation of the line which is
equidistant from parallel lines

9z + 6y — 7 = 0and 3z + 2y + 6 = 0.


https://dl.doubtnut.com/l/_kVdBQ5JV3GH5
https://dl.doubtnut.com/l/_22YtDjUjZzji

° Watch Video Solution

3. If sum of the perpendicular distances of a
variable point  P(x,y)from the lines
x + 5y = Oand 3x — 2y + 7 = Ois always 10.

Show that P must move on a line.

o Watch Video Solution

4. Prove that the product of the lengths of the

perpendiculars drawn from the points


https://dl.doubtnut.com/l/_22YtDjUjZzji
https://dl.doubtnut.com/l/_rC1Sk3ZgWMgW
https://dl.doubtnut.com/l/_ZOE7RhWnP0Qb

( az—b2,0)and (— a2—b2,0)to the

line 2cos@ 4+ 2sin@ — 1is b°.
a b

° Watch Video Solution

5. A ray of light passing through the point (1,
2) reflects on the x-axis at point A and the
reflected ray passes through the point (5, 3).

Find the coordinates of A.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZOE7RhWnP0Qb
https://dl.doubtnut.com/l/_NOkcP2E1088z

6. Find the direction in which a straight line
must be drawn through the point ( — 1, 2)so
that its point of intersection with the line
x + y =4 may be at a distance of 3 units

from this point.

o Watch Video Solution

7. The hypotenuse of a right angled triangle

has its ends at the points (1, 3)and ( — 4, 1).


https://dl.doubtnut.com/l/_6Zya3QHeolQC
https://dl.doubtnut.com/l/_OFyNeon3PNTl

Find the equation of the legs (perpendicular

sides) of the triangle.

° Watch Video Solution

8. In what ratio, the line joining (1, — 1)and

(5, 7)is divided by the line x + y = 4?

o Watch Video Solution

9. Find the distance of the line

4z + Ty + 5 = 0 from the point (1, 2) along


https://dl.doubtnut.com/l/_OFyNeon3PNTl
https://dl.doubtnut.com/l/_qgLAGrnU0ZH7
https://dl.doubtnut.com/l/_ZHNt7KCQ7Q0C

theline2z —y = 0.

o Watch Video Solution

10. If three lines whose equations are
Yy = myx + ¢,y = myx + cyand
Yy = msx + czare concurrent, then show that

m1(02 — 03) + mz(C3 — Cl) + mg(Cl — Cz) =0

o Watch Video Solution



https://dl.doubtnut.com/l/_ZHNt7KCQ7Q0C
https://dl.doubtnut.com/l/_Q3aOGUsucXET

11. Find the equation of the lines through the
point (3, 2) which make an angle of 45° with

thelinezxz — 2y = 3.

o Watch Video Solution

12. Find the equation of the line passing
through the point of intersection of the lines
dx + 7y — 3 = Oand 2r — 3y + 1 = Othat

has equal intercepts on the axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_8SOY6PlDDjoC
https://dl.doubtnut.com/l/_ZRc8Rwp3OgjS

13. Show that the equation of the passing

through the origin and making an angle fwith

.Y m + tan6
they =mzx 4+ cis — = + :
x 1 —mtanf

o Watch Video Solution

14. Find the image of the point (3, 8)with
respect to the line = + 3y = 7assuming the

line to be a plane mirror.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZRc8Rwp3OgjS
https://dl.doubtnut.com/l/_fpTLaUC3ZFJM
https://dl.doubtnut.com/l/_rUcDCvsw2TVp

15. If the lines y = 3z + land 2y = x + 3are
equally inclined to the liney = mz + 4, find

the value of m.

o Watch Video Solution

16. Find the equation of a line drawn

d + LA 1through

icular to the li
perpendicular to the line 1 6

the point, where it meets the yaxis

o Watch Video Solution



https://dl.doubtnut.com/l/_qtyaRDVnXgZw
https://dl.doubtnut.com/l/_z3IlLKQCmHZl
https://dl.doubtnut.com/l/_2IhAmJv44gau

17. Find the equation of the line parallel to
yaxis and drawn through the point of
intersection of the lines x — 7y + 5 = Oand

3z +y=0.

° Watch Video Solution

18. Find perpendicular distance from the origin
of the line joining the points (cos 6, sin#)and

(cos ¢, sin ¢).

° Watch Video Solution



https://dl.doubtnut.com/l/_2IhAmJv44gau
https://dl.doubtnut.com/l/_CLxLc4kZn4bm

19. What are the points on the yaxis whose

distance from the line % + % — lis 4 units.

° Watch Video Solution

20. Find the equations of the lines, which
cutoff intercepts on the axes whose sum and

product are 1 and — 6, respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_6jqGv4hiY6Lo
https://dl.doubtnut.com/l/_M7hjX01Fp7vg

21. Find the values of 8 and p, if the equation
x cos 0 + ysinf = pis the normal form of the

line /3z +y+2 = 0.

o Watch Video Solution

22. Find the values of k for which the line
(k—3)z— (4—K)y+k — 7k + 6 = Ois
(a) Parallel to the xaxis,

(b) Parallel to the y axis,

(c) Passing through the origin.

| & I


https://dl.doubtnut.com/l/_g7bOYYPtF20f
https://dl.doubtnut.com/l/_k8dUKMiIhGhQ

| ¥ Watch Video Solution |

23. Find the value of p so that the three lines
3r+y—2=0pr+2y—3=20 and

2z — y — 3 = Omay intersect at one point.

o Watch Video Solution

24. Find the area of the triangle formed by the

linesy —z =0,z +y =0andxz — k = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_k8dUKMiIhGhQ
https://dl.doubtnut.com/l/_L5tFZNwZjZi3
https://dl.doubtnut.com/l/_NbaVXNJ8JQOk

1. A line passes through (z1, y;)and (h, k). If
slope of the line is m, show that

k—y1 =m(h — ).

° Watch Video Solution

2. If three points (h, 0), (a, b) and (o, k) lie on a

line, show that had + 2 = 1.
h k

o Watch Video Solution



https://dl.doubtnut.com/l/_0hAVKPZCj0tE
https://dl.doubtnut.com/l/_PqwYeH4Jdp8W

3. Find the angle between the horizontal axis
and the line joining the points (3, — 1)and

(4, — 2).

o Watch Video Solution

4.The slope of a line is double of the slope of
another line. If tangent of the angle between

them is 3 find the slopes of the lines.

o Watch Video Solution



https://dl.doubtnut.com/l/_usggMP2r7kmZ
https://dl.doubtnut.com/l/_GrAsD33D1Lvy
https://dl.doubtnut.com/l/_Z6HG6M3kGJa9

5. Consider the following population and year
graph, find the slope of the line AB and using
it, ind what will be the population in the year

20107

S
g

102

L=
3

(1995, 97)

=
I

Population in Crores

(1985, 92)

\

87

—>X

0 1985 1990 1995 2000 2005 2010

Years

o Watch Video Solution



https://dl.doubtnut.com/l/_Z6HG6M3kGJa9

6. Find the slope of a line, which passes
through the origin, and the midpoint of the
line segment joining the points P(0, 4)and

B(8,0).

o Watch Video Solution

7. Find a point on the x-axis, which is

equidistant from the points (7, 6) and (3, 4).

A 15O
17
o (2,0)


https://dl.doubtnut.com/l/_jy4RNfejwUq1
https://dl.doubtnut.com/l/_tpApGhdVG2rO

15
Answer: A (7, O)

o Watch Video Solution

8. Find the slope of the line, which makes an
angle of 30°with the positive direction of

yaxis measured anticlockwise.

o Watch Video Solution



https://dl.doubtnut.com/l/_tpApGhdVG2rO
https://dl.doubtnut.com/l/_8pCwsz4aiyYk

9. Without using the Pythagoras theorem,
show that the points (4, 4), (3,5)and (1, 1)

are the vertices of a right angled triangle.

o Watch Video Solution

10. Draw a quadrilateral in the Cartesian plane,
whose vertices are (4,5), (0,7), (5,5)and

(4, 2). Also, find its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_q20A6UeGjoNo
https://dl.doubtnut.com/l/_n9oK2ZSQKU0O
https://dl.doubtnut.com/l/_lzuDOPS5P56L

1. Find the distance between P(zi,y;)and
Q(z2, y2)when:
(i) PQis parallel to the yaxis,

(ii) PQ is parallel to the x-axis.

o Watch Video Solution

12. The base of an equilateral triangle with
side 2a lies along the y-axis such that the
mid-point of the base is at the origin. Find

vertices of the triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_lzuDOPS5P56L
https://dl.doubtnut.com/l/_cGmONbSmU4pe

13. Without using distance formula, show that
points ( — 2, — 1), (4,0), (3,3)and ( — 3, 2)

are the vertices of a parallelogram.

o Watch Video Solution

14. Find the value of x for which the points

(z,1),(2,1)and (4, 5)are collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_cGmONbSmU4pe
https://dl.doubtnut.com/l/_AMhyW6mwmqlH
https://dl.doubtnut.com/l/_IGKplVCFW9v8

1. By using the concept of equation of a line,
prove that the three points (3, 0), ( — 2, — 2)

and (8, 2)are collinear.

° Watch Video Solution

2. Write the equations for the x-and y-axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_4tmj9Yghgti7
https://dl.doubtnut.com/l/_t2RUSe0Vnwy2
https://dl.doubtnut.com/l/_RthAGqKBq2dp

3. Find the equation of the line which satisfy
the given conditions : Passing through the

: , 1
point ( — 4, 3)with slope 5

° Watch Video Solution

4. Find the equation of the line which satisfy
the given conditions : Passing through (O, 0)

with slope m.

° Watch Video Solution



https://dl.doubtnut.com/l/_RthAGqKBq2dp
https://dl.doubtnut.com/l/_TfMuKdIB8eA6

5. Find the equation of the line which satisfy
the given conditions : Passing through

(2, 2\/§)and inclined with the xaxis at an

angle of 75°.

o Watch Video Solution

6. Find the equation of the line which satisfy
the given conditions : Intersecting the xaxis at
a distance of 3 units to the left of origin with

slope 2.

| & I


https://dl.doubtnut.com/l/_zirDD96HnwOv
https://dl.doubtnut.com/l/_93I3xus8DaEl

| ¥ Watch Video Solution |

7. Find the equation of the line which satisfy
the given conditions : Intersecting the yaxis at
a distance of 2 units above the origin and
making an angle of 30° with positive direction

of the xaxis.

o Watch Video Solution

8. Find the equation of the line which satisfy

the given conditions : Passing through the


https://dl.doubtnut.com/l/_93I3xus8DaEl
https://dl.doubtnut.com/l/_EAuPUjK2Yfvm
https://dl.doubtnut.com/l/_6f5iO5NTQxaj

point ( — 1, 1)and (2, — 4)

o Watch Video Solution

9. Point R (h, k) divides a line segment between
the axes m the ratio 1: 2. Find equation of the

line.

o Watch Video Solution

10. P (a, b) is the midpoint of a line segment

between axes. Show that equation of the line


https://dl.doubtnut.com/l/_6f5iO5NTQxaj
https://dl.doubtnut.com/l/_9ZG4jLelAKB6
https://dl.doubtnut.com/l/_lgLT7WjlUT8R

is L Y _o
a

b

o Watch Video Solution

11. Find equation of the line passing through
the point (2, 2) and cutting off intercepts on

the axes whose sum is 9.

o Watch Video Solution

12. Find the equation of a line that cuts off

equal intercepts on the coordinate axes and


https://dl.doubtnut.com/l/_lgLT7WjlUT8R
https://dl.doubtnut.com/l/_RKAOfbkVElb4
https://dl.doubtnut.com/l/_NiZG5Y58aSaG

passes through the point (2, 3).

o Watch Video Solution

13. A line perpendicular to the line segment
joining the points (1, 0) and (2, 3) divides it in

the ratio 1: n. Find the equation of the line.

o Watch Video Solution

14. Find the equation of the line passing

through (3, — 5)and perpendicular to the


https://dl.doubtnut.com/l/_NiZG5Y58aSaG
https://dl.doubtnut.com/l/_PcGegvMNj9j3
https://dl.doubtnut.com/l/_UpxXuqIwlHAg

line through the points (1, 0)and ( — 4, 1).

° Watch Video Solution

15. The owner of a milk store finds that, he can
sell 980 litres of milk each week at Rs 14/litre
and 1220 litres of milk each week at Rs 16 /
litre. Assuming a linear relationship between
selling price and demand, how many litres

could he sell weekly at Rs 17 / litre?

° Watch Video Solution



https://dl.doubtnut.com/l/_UpxXuqIwlHAg
https://dl.doubtnut.com/l/_JiCA0ghK54zM
https://dl.doubtnut.com/l/_ZZJ8uhZM0vBi

16. The length L (in centimetre) of a copper rod
is a linear function of its Celsius temperature
C. In an experiment, if L = 124. 942when

C = 20and L = 125.134when C = 110,

express L in terms of C.

° Watch Video Solution

17. The perpendicular from the origin to a line
meets it at the point (2, 9), find the equation

of the line.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_ZZJ8uhZM0vBi
https://dl.doubtnut.com/l/_jmdwwI05zVF2

18. Find equation of the line through the point
. 2w -
(0, 2) making an angle ?Wlth the positive
xaxis. Also, find the equation of line parallel to
it and crossing the xaxis at a distance of 2

units below the origin.

° Watch Video Solution

19. Find the equation of the line which satisfy

the given conditions : Perpendicular distance


https://dl.doubtnut.com/l/_jmdwwI05zVF2
https://dl.doubtnut.com/l/_EjnrIj4BDxw8
https://dl.doubtnut.com/l/_p9Fpe93Rauml

from the origin is 5 units and the angle made

by the perpendicular with the positive xaxis is

30°.

o Watch Video Solution

20. The vertices of A PQR are P(2,1),
Q( — 2,3)and R(4,5). Find equation of the

median through the vertex R.

o Watch Video Solution



https://dl.doubtnut.com/l/_p9Fpe93Rauml
https://dl.doubtnut.com/l/_nRwbIdOvP0bc

1. Find the new coordinates of the points in
each of the following cases if the origin is
shifted to the point (-3, -2) by a translation of
axes.(i) (1, 1) (i) (0, 1) (iii) (5, 0)

(iv) (-1,-2)  (v)(3,-5)

° Watch Video Solution

2. Find what the following equations become

when the origin is shifted to the point (1, 1)


https://dl.doubtnut.com/l/_E4wlhB0SmovP
https://dl.doubtnut.com/l/_Q5oGKXKKuy6J

x> +2y—3z—y+2=0
(iJ)ey—y*  —xz+y=0

(Mey—z—y+1=0

o Watch Video Solution



https://dl.doubtnut.com/l/_Q5oGKXKKuy6J

